| S 4 EEMTNNBRIN - FERIZBIT2HAENIC 2R DH B IRE - EEFEERIFAE
SHIAEE 0%)IBA TR ER A - S (PRI
X | THETA | R | R | & B | IRE | HETA | INER | RER | & F
o | mmmm | 3,318 1,147) 4,465 T 213 98 311
I | e | 1,288 351 1,639 e 149 78 227
R R 53 200 733 peEdH 112 37 149
MRl fEEd 148 44 192 ¥ KREET 3 2 5
SR 10 10 20 — BT 6 2 8
RER 217 90 307 N g 483 217 700
= I 32 10 42 R A 16 4 20
s |2 10 3 13 ch L 19 12 3]
=8| = 0 0 0 KT 4 0 4
([ 4 0 4 FAFEIET 0 1 1
)| [ 39 9 48 e 0 0 0
N B 312 122 34| m=7 | B 5 0 5
BT 357 159 516 N 50 28 78
KA 271 124 401 HEARET 2 0 2
et 106 37 143 BT 0 1 l
HERETT 161 58 219 50 11 6 17
2o
W 242 111 353 N g 107 52 159
51 [T 165 82 247
B 3 0 3
N | 1,310 511 1,882 B &3 7,500 2,704] 10,204
SN =RR=EF

2/5




